Exam III Review

1. A 90% confidence interval for means indicates that 90 out of 100 similarly constructed intervals will include the sample mean.

2. A single number used to estimate a population parameter is a point estimate.

3. If the size of a sample equals the size of the population, we would not expect any error in estimating the population parameter. 

4. The null hypothesis is a claim about the value of a population parameter.

5. A Type I error is accepting a false Ho.

6. The hypothesis to be tested for reasonableness is referred to as the level of significance.
7. The F distribution's curve is positively skewed. 
8. If the coefficient of correlation is –0.90, the coefficient of determination is –0.81.
9. The correlation coefficient is the proportion of total variation in Y that is explained by X. 
10. The base-period price is designated as pn and the price for the given period is designated p0.
